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QID : 1 - In the following question, select the related word from the given alternatives.
Spectacles : See : : Pencil : ?
FrafofrT mr ® fr mr freeat & 7 wfioer srer i giEm

AT+ AT 2 A 2 2
Options:

1) Lead

o

2) Write

feremT

3) Paper
FTH
) Round

et
Correct Answer: Write

Candidate Answer: Write
fereem

QID : 2 - In the following question, select the related letters from the given 4 ternat. es.
FROM : MYVT : : TEAM : ?
Frraferfar s % form T Frpedt F 9 sl et s g

FROM : MYVT : : TEAM : ?

Options:

1) ALHT

2) BMJV |
3) DKIA

4) HVAK

Correct Answer: ALHT
Candidate Answer: DKIA

QID : 3 - In the following question. se w t the related number from the given alternatives.
192:291::316:7
Frafafir wr & fr o FBreeat & & s s 5 g

192:291::316:7

Options:

1) 631

2) 136

3) 163

4) 613

Correct Answer: 613
Candidate Answer: 613

QID : 4 - In the following question, select the odd word from the given alternatives.

Frafofr o ® o Breeat & & Free srer s gBm
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Options:
1) Mustard
i

2) Wheat
w

3) Crop

R i

4) Rice
=T
Correct Answer: Crop
T

Candidate Answer: Mustard
Ligeiid

QID : 5 - In the following question, select the odd letters from the given alternatives.

Fratorfr wr & f o Geeei & 7 B seae w1 g
Options:

1) AGMS

2) HNTZ

3)cloz

4) DIPV

Correct Answer: CIOZ

Candidate Answer: DIPV

QID : 6 - In the following question, select the odd number pair from the given alternatives.

Frafafr wr & o mr Gt 7 By wen g s g m
Options:

1) 9 - 23

2)2-16

3)4 - 14

4)11-25

Correct Answer: 4 — 14

Candidate Answer: 4 - 14

QID : 7 - In the following question, select the odd number pair from the gi. = alternauves.

Frafofer wa & R oo Rreredt # R s gea 51 7R
Options:

1)73-21

2)56 - 30

3)53-15

4)22-6

Correct Answer: 22 - 6

Candidate Answer: 73 - 21

QID:8- e
How many triangles ara.in~ a in the given figure?

& og spfar 3 &= M= ¥2
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Options:
1)5

2)6
3)7

4)8
Correct Answer: 6
Candidate Answer: 6

QID:9-
How many rectangles are there in the given figure?

&1 78 pfa F fraa g ¥

Options:
1)8

2)9
3) 10

4)11
Correct Answer: 10
Candidate Answer: §

QID : 10 -
Which of the following cube in the answer figire
CANNOT be made based on the unfolde a cube in
the question figure?

Heafafa 39T ampfa '@ Fe @ ug9 By oo
war 3l # W g va adl garn S gearr

o I
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Correct Answer:

Candidate Answer:
L]

QID : 11 -
Three positions of a cube are'shovn below. What
will come opposite to face contain g A'?

A o oug Fr DF @ geflr ¥ OCA
Gh ol o TaUAdd T HROT?

C 7 Z F
A & C 5 Z N
Options:
1)F
2)Z
3)N
4)B

Correct Answer: Z
Candidate Answer: Z

~ Sarkari Results Gyan
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QID:12-
A piece of paper is folded and punched as shown
below in the question figures. From the given

answer figures, indicate how it will appear when
opened?

= F uw dghE # ffwmw wgur s @
ZTFRT BT T Wreled &F 91 I oFT TOX ITETS
Sar Bag gome

2)

3)

Correct Answer:

o O
O
O o
Candidate Answer
QT
L8]

=]
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QID : 13-
From the given answer figures, select the one in
which the guestion figure is hidden/embedded.

&1 7 ST ol # | 37 3 gfa @ gfaw
forg & wwr gt fafem &

Options:
1)

2)

3)

4)

Cormrect Answer:
|
|
|
Candidate Answer:

[ ]
=
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QID : 14 -
If a mirror is placed on the line AB, then which of the
answer figures is the right mirror image of the given
figure?

Ay o gquT @ AB YmT UT T S, ar &
3T METaAl F @ wiT @ el ww el &
T equr ufafaea gefre

w

w
—

Candidate Answer:

Sarkari Results Gyan
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QID : 15 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

o wer & & o7 Reredt & @y g
(?) & TAET UT ¥ Areh TS A g

3 5 3
[5]28] 2] [e|19[1] [8]2] 4]
T 4 7
Options:
1)42
2) 44
3) 40
4) 46
Correct Answer: 44
Candidate Answer: 42
QID : 16 -
In the given figure, how many bags are brown but
not large?

& o$ gpla #, Rraet ¥ sy ¥ wg @¥ aff ¥
|

B9/

Carme
T=T
Options:
1)91
2)37
3) 128
4) 146

Cormrect Answer: 37
Candidate Answer: 128

QID : 17 - From the given alternatives, select the word which can be formed using the letters of the given word.

PASTURIZATION

Fraftorfr Rerei # 7 =g ooz g A B mr oer e w7 90T T aETEn A v o
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Options:

1) NATURE

2) POSTER

3) START

4) STRAPED

Correct Answer: START

Candidate Answer: START

QID : 18 - Identify the diagram that best represents the relationship among the given classes.
Yellow, Blue, Man

=g Ao A Ay A R At F f F e w7 e e s

e, e, gew

Options:
1)

e8P
O

2)

Sarkari Results Gyan
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QID : 19 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All trousers are white,
II. All white are colour.

Conclusions:
I. Some white are trousers.
II. All colour are white.

Hrr R ey F g W S T A e et O arsner g P R o §) R waet @ et W, sy S s s At & e gn ey Preed o e fee

Frrarifeer =7 far oy o =iy 71 e, P o st o e o g

ExCH
L wfr T e

11, o =k =T

e

L §= 7%= T 7

11, =t 77 7 §

Options:

1) Only conclusion (I) follows.

ey Frre (1) w3

2) Only conclusion (II) follows.

T fret (1) 7t 21

3) Both conclusion follow.

=t it Pt i

4) Neither conclusion (I) nor conclusion (II) follows.
= A1 Frowe (1) 7§ Frowd (1) = 3

Correct Answer: Only conclusion (I) follows.

Freer Pt (1) =t 21

Candidate Answer: Both conclusion follow.

=1t #t Fret =t §

QID : 20 - In the following question below are given some statements followed b. son & conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then dew d= wh h of the given conclusion logically follows the given statements.

Statements:
1. All vehicles are tables.
II. No vehicle is chair.

Conclusions:

I. Some vehicles are tables.
II. Some tables are chairs.
II1. All vehicles are chairs.

ﬁﬁvmwxﬁ‘ﬁmwwmﬁwﬁf“m_'ﬁ 7 Tt B 2 o o et S A w, =g S ATarer s At | frmEr gnomdfr et o s e

Frurffar 77 fir Fer oy e & e, fror are a8

A
L =refr it &7 #)
I1. =7 it g0 =

oo

L g it a3 &

I1. T 5o gt 2

ML wrdfy mizai gt §)

Options:

1) Only conclusion (I) follows.

e et (1) 7= &

2) Only conclusion (II) follows.

e Pt (11) 7t 20

3) Only conclusion (I1) and ([II) follow.

Freer et (1) =rar (I0I) =t $)

4) Neither conclusion follows.

T Pt et o

Correct Answer: Only conclusion (I) follows.
Freer Pt (1) ot 31

Candidate Answer: Only conclusion (II) and (III) follow.
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QID : 21 - L is the daughter of P. P is the brother of M. M is wife of J. How is M related to L?

L Pt 31 P, M wrarg & M, J i =ft f M, L 7 By srvre wiifer 82
Options:

1) Mother

ATET

2) Aunt

EEL
3) Sister

qaq‘

4) Wife

Tt

Correct Answer: Aunt

R

Candidate Answer: Mother
HTET

QID : 22 - Pointing towards a man, a woman said, "He is the son of my sister’'s mother’s only son." How is the woman’s brother relates "o that ~an?

T g fF T A FA G, U AT 7 T, A A A £ A F UwEry OF 57T 21 A v ArE 39 OH & G g watea f

Options: —
1) Father

i’

2) Sister

i

3) Wife

o4

) Daughter

Ed

(o]

orrect Answer: Father

i

Candidate Answer: Daughter

ES

QID : 23 - A person buys 10 articles at rate of Rs 5 each and 30 articles at the ra"eo* Rs 10 each. What will be the average price (in Rs) per article?

o =R 10 = wiE e 5§ % o = A 74T 30 Av At w10 w it ww # mE T #1 wen e F1 A ge (5 °) F=h g

Options:
1)8.75

2)9.25
3)9.85

4)8.5

Correct Answer: 8.75

Candidate Answer: 8.75

QID : 24 - P can do a piece of work in  day' ana Q can do the same work in 21 days. How many days will both take together to complete the same work?

Puwwrd ot 7 B F wewmeAr g a0 O At wret v 21 AT § v wwer $10 5w e w9t wet wr oo v § ey e o

Options:
1)4.75

2)5.75
3)6

4)5.25
Correct Answer: 5.25
Candidate Answer: 4.75

QID : 25 - In the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

o v e H, | AvpeAt S e g e o = v v o e o7 wAr § mar v wee e #) P avpter s gm0
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2)

3)

e

Jr

Correct Answer:

s

Candidate Answer:

J‘r

QID : 26 - In the given question, there are four fig. == 0. en out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

4)

Forr o wr 1, = TRt F s F R A o Gl v pr ¥ stveme o e § A e e P ) B et v gFm
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4)

[

Correct Answer:

=]
o]

Candidate Answer:

l

QID : 27 - In the given question, there are four fig. == 0. en out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

o sy, s ARt S g F R & S - oo wqor B v o wErer § A e weseT T ) P gt i gim
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Candidate Answer:

H

QID : 28 - In the following question, select the miss & n.. nber from the given series.

21, 24, 26, 27,30, 32,31, ?
Tt wr § fw oo fepedi % 47 o % 5 14 S m

21,24, 26,27,30,32,31,?
Options:

1)42

2) 34

3)33

4) 46

Cormrect Answer: 34
Candidate Answer: 46

QID : 29 - In the following question, select the missing number from the given series.
3,7,16,32,57,?
Frafatar wr # f m Grereai % 7 7 i e fAtm

3,7,16,32,57,7?
Options:

1) 68

2)93

3)82

4) 74

Correct Answer: 93

A Sarkari Results Gyan
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Candidate Answer: 68

QID :30-
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

frrafafeT oy & Ry o feeat F ¥ wy o
(?) & TUE UT A ATl IR R FhAw

1A ?

e
O

2)

3)

4)

O

Correct Answer:

Candidate Answer:

Sarkari Results Gyan
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QID:31-
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

BaRE o 7 R o Rereat & & uww Fg
(?) & TR O A AR HEPTS BT

A A

ek

A

O

Options:
1)

2)

3)

4)

8| O O &

Correct Answer:

(@

Candidate Answer:

Sarkari Results Gyan
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QID :32-
In the fellowing question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

fAFaffam oy & Ry or et & @ Uy R
(?) & TUE T A ATl HTpA W AT

HREE

HEFEH

g
3
g
1
2
g

(9]
S
B
&
&
]
-1

ISWer:

QID : 33 - In a certain code language, "FROM" is written as "6539" and "NOISE" is written as "73482". How is "ROSE" written in that code language?

e FAfire e s #, "FROM” %1 "6539" 747 "NOISE" %1 " 73482" forar wrar #1 Ta F1= wram § "ROSE" %1 Frer st ferar soam?

Correct Answer: 5382
Candidate Answer: 5382

Sarkari Results Gyan

e n e (T 39 A agae)




Sarkari Results Gyan

(F=rd 3= Andt ara2e)

QID : 34 - In a certain code language, "FILM" is written as "40" and "SHOT" is written as "62". How is "TAKE" written in that code language?

e Frfire & W #, "FILM" =7 "40" 7a7 "SHOT" %1 "62" Forar wram 1 77 Fr= wrar 7 "TAKE" =1 e s v smom?
Options:

1)37

2) 40

3)41

4)43

Correct Answer: 37

Candidate Answer: 40

QID : 35 - In a certain code language, "TRUNCATE" is written as "XQYMGZXD". How is "APRAISE" written in that code language?

e FAfirg £ 9T §, "TRUNCATE" #7 "XQYMGZXD" forar WTar 21 70 F1F 97 ¥ "APRAISE" ¥7 e wve formr smomm?
Options:

1) EOVZMRI

2) ZQSBFDA

3) ZVOEIR)

4) DPRLOPN

Comrect Answer: EOVZMRI

Candidate Answer: ZVOEIR]

QID : 36 - Which of the following organisations is known as World Bank?

Tt & # F1 |7 Fraa F2ra % F =7 ¥ @ A ge
Options:

1) IMF

2) ADB

T

3) IBRD

ArEH AT

4) UNESCO

THEET

Correct Answer: [BRD
ArEHTATET

Candidate Answer: IMF
AETHTE

QID : 37 - Economic planning is an essential feature of which of *~e folléwiffg economies?

o FErae e adeerear i v e FrormEr 32
Options:

1) Socialist Economy

THTHATE =TT

2) Capitalist Economy

e AT

3) Dual Economy

=gt AT

4) Mixed Economy

Forfar s . ¥
Correct Answer: Socialist Ecs “om .
FHTHETS F=TeeaT

Candidate Answer: Mixed Economy

Ferfare arderarear

QID : 38 - How many banks were nationalised in 19697
1969 % = &1 =1 T e o 9

Options:

1) 10

2)12

3) 14

4) 16
Cormrect Answer: 14
Candidate Answer: 14

Sarkari Results Gyan
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QID : 39 - Which of the following is the difference between total receipts and total expenditure?

TR AR AT WA A7 =T F AT I 2P
Options:

1) Fiscal Deficit

TR =T

2) Budget Deficit

HAL LT

3) Revenue Deficit

AT T

4) Capital Deficit

ST AT

Cormrect Answer: Budget Deficit
AT AT

Candidate Answer: Revenue Deficit
AT TTET

QID : 40 - What is the official language of Indian state of Nagaland?

ST T AT AT ST = 32

Options:

1) English

CEEl

2) Naga

A

3) Meitei

el

4) No option is correct

T Forre ot w2

Correct Answer: English

L]

Candidate Answer: Meitei
=1

QID : 41 - How many spokes are there in the Ashoka Chakra depicted on the Naf wha' lag of India?

AT F I e U7 e v =% # e @t 32
Options:
1)36

2) 24
3) 16

4) 32
Correct Answer: 24
Candidate Answer: 36

QID : 42 - Which Article of the Indian . «=st “utici provides for the institution a Panchayati Raj?

ST AR 7 R AT AT TR e A 37
Options: el 5
1) Article 38

af=g= 38

2) Article 39

F== 39

3) Article 40

wT=e= 40

4) Article 41

a7 41

Correct Answer: Article 40

wT=e= 40

Candidate Answer: Article 38

w=u= 38

QID : 43 - Where is the 'abolition of untouchability’ articulated in the Constitution of India?

AT F L AT TRe e g 87

Sarkari Results Gyan
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Options:

1) Article 14

a7 14

2) Article 15

a7== 15

3) Article 16

a=E 16

4) Article 17

w=uE 17

Correct Answer: Article 17
ag=E 17

Candidate Answer: Article 14
IT=aT 14

QID : 44 - Where was the capital of Surasena Mahajanpada?

FTHA HETAATT T AT w7t A7?
Options:

1) Viratnagar

P

2) Taxila

Farfaren

3) Kashi

ot

4) Mathura

T

Correct Answer: Mathura
hES

Candidate Answer: Virathagar
et

QID : 45 - During reign of Harsha, the Kannauj assembly was held to publicise the doctrinec of v 'ch of the following sects?

3 streer 3 e, wolor ever PR shrerel 3 Rezial wr srre wob s g ariiorer P g

Options: S —
1) Hinayana

2) Mahayana

HEATT

3) Shwetamber

AT

4) No option is comrect

1 e et g

Cormrect Answer: Mahayana
HETATT

Candidate Answer: Mahayana
WETATA

QID : 46 - In 1923 by whom Swaraj ®are;, s founded?

1923 # P Zrey 7= ave A e SR 7
Options:
1) Abdul Gaffar Khan and Vithalbha Patel

HTZET TTFEIT |1 A Frgerars gze

2) Gandhiji and Jawaharlal Nehru

e 4fre ST T

3) Sachin Sanyal and Jogesh Chatterji

A=A AT F 1 AT q2

4) Motilal Nehru and C.R. Das

wrefrerer Az e # A =

Correct Answer: Motilal Nehru and C.R. Das
T fgE A A =

Candidate Answer: Abdul Gaffar khan and Vithalbhai Patel
T TTFEIT & A Fgerars gzer

QID : 47 - During the reign of which Viceroy of India, the elections were held for the first time in 11 Indian states?

T AT ¥ T ¥ FerA ATeA ¥ 11-0rei H agelt e A Sy 62
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Options:

1) Lord Linlithgow

e femterr

2) Lord Mountbatten

wTE AT

3) Lord Curzon

ATE T A

4) Lord Irwin

aiE et

Correct Answer: Lord Linlithgow
wiE fermferr

Candidate Answer: Lord Irwin
g T

QID : 48 - Where is the largest concentration of stupas in India?

AT W T Y e AE AT T R
Options:

1) Himachal Pradesh

A= T=

2) Bihar

3) Madhya Pradesh

T T

4) Uttar Pradesh

TET T

Correct Answer: Madhya Pradesh
T T

Candidate Answer: Madhya Pradesh
We TEIT

QID : 49 - Thaipusam festival is celebrated by which of the following communities?

FETTR ==rgTe FraAtertaE W # e wErE F 2y e | 8?
Options:

1) Malayalam

HEATEAH

2) Telugu

bl

3) Marathi

A

4) Tamil

e

Cormrect Answer: Tamil

arHer

Candidate Answer: Malayalam
HEAATEAH

QID : 50 - Which of the following staes 2= *4e largest forest area?

Pt & & F e At = e

Options:
1) Bihar

2) Karnataka

AT

3) Madhya Pradesh

We TEIT

4) Kerala

FaT

Correct Answer: Madhya Pradesh
HET TEIT

Candidate Answer: Karnataka
FAETE

QID : 51 - Ken River is the tributary of which of the following river?

¥ wt Prraforfrer & # frf wgras & 82

e
ol P o
Oy, el ¥
L

Sarkari Results Gyan
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Cormrect Answer: Yamuna

Candidate Answer: Betwa
AT

QID : 52 - Manipur has common boundaries with which of the group of state?

wiirge 1 f wreat % wg ¥ wrg A 9@ 87
Options:
1) Nagaland, Mizoram and Meghalaya
e, T A g
2) Nagaland, Mizoram and Assam
=, o werw
3) Nagaland, Meghalaya and Sikkim
4) No option is correct
FE T i T 7
Correct Answer: Nagaland, Mizoram and Assam

ArrerE, e i wm
Candidate Answer: Nagaland, Meghalaya and Sikkim

QID : 53 - The Himalayan mountain range is an example of
F Ik i e e S = o s -
Options:

1) Fold mountain

=T T

2) Rock mountain

TF T

3) Block mountain

=T =T

4) Volcanic mountain

FTETYET =

Cormrect Answer: Fold mountain

AT T

Candidate Answer: Block mountain

A THA

QID : 54 - Which among the followirs s.ite= n India produces highest wool?

AT H A T T T T R E?
Options:
1) Haryana

2) Rajasthan

AT

3) Madhya Pradesh

WeT TEIT

4) Jammu-Kashmir

TAR-FIHIT

Correct Answer: Rajasthan

AT

Candidate Answer: Jammu-Kashmir
TAP-TIHIT

QID : 55 - Which one of the following is an element of weather?

rer & =17 wers 7 U qe 32

AT Sarkari Results Gyan
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Options:

1) Wind

=T

2) Temperature
ATHA

3) Humidity
At

4) All options are correct

wreft R i &

Correct Answer: All options are correct
weft P W

Candidate Answer: All options are correct

i P ot 3

QID : 56 - What is the scale used for measuring the intensity of the earthquake?

ST T AT F1 AT (F6er) ¥ v wmr g fea wrer g7
Options:

1) Metric Scale

it frarer (FFeT)

2) Richter Scale

fraze fmr (FF)

3) Epicentre Scale

nfirEET fHT (F)

4) Quake Scale

g T ()

Correct Answer: Richter Scale
frae e (F)

Candidate Answer: Richter Scale
fraz fmTr (FF)

QID : 57 - Which one of the following has the highest value of specific heat?

Frafef % #r Frrft RrfSre s =7 w1 wraiters grar 32

Options:
1) Alcohol

2) Methane

o

3) Water

kg

4) Kerosene

et Ser

Correct Answer: Water
kg

Candidate Answer: Kerosene

Fcdt 2o

QID : 58 - Which of the following quaniy = 7ains censtant when an artificial Satellite revolves around the Earth in circular orbit?

e A Ty At F A A e w g 3, W AT A e e 2
Options:

1) Linear Velocity

i AT

2) Angular Momentum
Fofrr 7y
3) Angular Displacement

4) No option is correct
Correct Answer: Angular Momentum

i e

Candidate Answer: Angular Displacement

Froft P

QID : 59 - Which among the following lens is used to correct Presbyopia?

weTTeETE (S ET) ®1 S e ¥ o Fraftire e s s saEn e arer 37

AT Sarkari Results Gyan

:l;':jf':t':_‘_',:g (T 39 A agae)

a s o “‘i




Sarkari Results Gyan

(F=rd 3= Andt ara2e)

Options:

1) Concave

AT

2) Convex

=T

3) Cylindrical

AT

4) Bifocal

AR

Correct Answer: Bifocal
ATETFET

Candidate Answer: Convex
=T

QID : 60 - Which among the following blood protein regulates the amount of water in plasma?

Tt & # 1 A7 % TE e F T A w1 e w82

Options:
1) Albumin

2) Globulin

3) Fibulin

frafers

4) No option is correct

FE T i T 7
Correct Answer: Albumin
i

Candidate Answer: Fibulin

e
QID : 61 - Which one of the following is a mixture of carbon monoxide and hydrogen?

FrafafarT % 7 F17 T AT A g w7 e 37
Options:

1) coal gas

o1 Ty

2) producer gas

AT e

3) water gas

e T

4) gobar gas

e ey

Correct Answer: water gas
e T

Candidate Answer: water gas
et e

QID : 62 - Name the gas which is usea .1 #a aons in the place of hydrogen?

TR F T OF e § TEAuTe A7 % q A F?
Options:
1) nitrogen

2) helium

3) neon
T

4) argon
AT

Correct Answer: helium

Fiferrm

Candidate Answer: helium

Fiterre

QID : 63 - Isobar is produced by the emission of which of the following?
Frafertare % # frers geersta & weomifes =1 Fwio gar 2

AT Sarkari Results Gyan
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Options:

1) X-ray

feecine

2) Gamma ray
THT FE

3) Beta ray
Ay e

4) Alpha ray
e B
Cormrect Answer: Gamma ray
AT FE

Candidate Answer: X-ray

T

QID : 64 - Which of the following consists of the highest biodiversity?

Frmferare # # mratfRr s P wt ot et 37
Options:

1) Tropical rainforest

T TR A A

2) Temperate forest

Ludica ot

3) Deciduous forest

TEEE A

4) Grass land

= qf

Correct Answer: Tropical rainforest
T =t

Candidate Answer: Temperate forest
FefrEreT =

QID : 65 - Which among the following is key faunal species that is being conserved and r~ - *oted in "Dachigam National Park’ ?

Frafetire % & e sy serte 1 == o ar # Al & o dare frar e gy o
Options: >
1) Musk Deer

2) Golden Oriocle

Tireee it

3) Marten

T

4) Hangul

G

Correct Answer: Hangul
Eilsil

Candidate Answer: Marten
A

QID : 66 - Which of the following crass « ~ . s&d for producing Bio fuels?

S Eu F AR F o R A f T 1 T IUART R A g2
Options:

1) Sugar cane

=T

2) Corn

i

3) Jatropha

FETTET

4) All options are correct

wreft R adi &

Correct Answer: All options are correct

woft P W g
Candidate Answer: All options are correct

rft e oy &

QID : 67 - The intensified version of which mission was recently launched by Prime Minister of India at Vadnagar in October 20177

IzaT 2017 § AT & warART 7 A=A Few o & e wesoor w51 e B g
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Options:

1) Smart City Mission

warE Frdt ferorr

2) Mission Indra

T 22

3) Mission Indradhanush

Ferom ez

4) Mission Swarna Jyoti

Torove =t it

Correct Answer: Mission Indradhanush
Ferom ez

Candidate Answer: Smart City Mission
wre Frdt ferorr

QID : 68 - India has declared 2010-2020 as the decade of

ATCA A 2010-2020 FT =9 F =T § =i A f)

Options:
1) Modernisation

2) Innovation

TR (ZATT)

3) Invention

=TT

4) Inspiration

ST T

Correct Answer: Innovation
FETE (ZATT)

Candidate Answer: Modernisation

B\ CEaE TR

QID : 69 - Indian railways is working with which organisation to make trains safer?

AT 7T ZAT F Fier 7= & P ey sy s s T 37
Options:

1) DRDO

Frarrdrar

2) ISRO

Ly

3) NALSAR

AT

4) ICAR

Correct Answer: [SRO

Esin

Candidate Answer: NALSAR
ATEET

QID : 70 - Who has won the 2017 Wemc 's “ngles National Badminton Championships?

e 2017 wfgen v T drefhe o S i S 3
Options:

1) Shriyanshi Pardeshi

Praiof aoaft

2) Prajakta Sawant

ST ATHT

3) Saina Nehwal

FTEAT AZATE

4) PV Sindhu

ot oy, Fong

Correct Answer: Saina Nehwal
FTZAT AgATeT

Candidate Answer: PV Sindhu

v, Ping

QID : 71 - Which country will host the 8% Edition of FIFA Women's World Cup in 20197

F1 A T9r 201 9 F T Aigew Fea w7 ¥ 85 wvwor ff et wo?
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Options:
1) Chile
Frefr

2) Russia
=

3) France
T

4) Germany
HHAT

Correct Answer: France
ars

Candidate Answer: Germany
AT

QID : 72 - With which following neighbouring country India had joint training exercise “Mitra Shakti 2017" in October 20177

Fraferter % # frer a2l Tor & Arer wea 7 srvzaw 2017 F T o 2017 =T ey ReEm ar?

Options:
1) Bhutan

I

2) Nepal

e

3) Sti Lanka

e

4) Bangladesh

AT

Correct Answer: Sri Lanka
frerT

Candidate Answer: Bangladesh
T

QID : 73 - What is the most popular sport in Nepal?

FOTTET T T AT A A AT Z?
Options:
1) Football

2) Cricket
e
3) Trekking

4) Baseball

fadn'

Correct Answer: Football
FEAT

Candidate Answer: Trekking
T

QID : 74 - Who is the winner of the "aa Beater International Prize 20177

B T AT [T 2017 F Mgt 37
Options:

1) Arundhati Roy

et o

2) David Grossman

e wierdT

3) Vikram Seth

frem iz

4) No option is correct

1 e w7 §

Correct Answer: David Grossman
e wierdT

Candidate Answer: Vikram Seth
e 7

QID : 75 - Who has been awarded with France's highest civilian honour 'Legion of Honour' recently?
FUET Y ST ¥ Ty AT FERTA WA A A ¥ R et e e g2
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Options:

1) Amitabh Bachchan
AT W

2) Dilip Kumar

T T

3) Shahrukh Khan
oMZET T

4) Sounmitra Chatterjee
e ===t

Correct Answer: Sounmitra Chatterjee
i ==
Candidate Answer: Amitabh Bachchan
FTHATT T

QID : 76 - India jumped over 30t ranks in the ease of doing business list issued by World Bank. What is its rank?

v &% €7 "= AT T e T # AT 1 Y 30 5 ST SR ST O 9
Options:

1) 100t

100-+F

2) 130t

130-=r

3) 125t

1254

4) 155th

1557

Correct Answer: 100th
100-

Candidate Answer: 100t
100-#F

QID : 77 - According to the report of Bank of America, India is likely to overtake which ;sitien a+ the world's third largest economy by 2028?

¥ A At 1 FOrE & AR, A 2028 = e 2er w7 werEs Gea £ S me o e § = # i e e 3
Options:

1) France —
bacy

2) Russia

=T

3) Pakistan

Lutrcio

4) Japan

Bl

Correct Answer: Japan

AT

Candidate Answer: Russia

=T

QID : 78 - As per data released kv the IMFin November 2017, which country ranked the world's richest country in terms of per capita GDP?

FEET 2017 F ATETHTE ZTT A % ST F AAIE, O S1 ST & wveer # fe forw gfer F e adiw o s s gt G

Options:
1) Brunei

2) Qatar
AT
3) Kuwait

4) Ireland
FTHE

Cormrect Answer: Qatar
AT

Candidate Answer: Kuwait

e

QID : 79 - Which country has partnered India in its first private sector missile subsystems manufacturing facility near Hyderabad?

T Zor = oA & e Tt S % Perewzer w3 v e & e Rt gl § aeferd £ 82
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Options:

1) Canada
FATET

2) Russia

=T

3) Israel

EGMES

4) No option is correct
Correct Answer: Israel
EGMES

Candidate Answer: Russia
=T

QID : 80 - The Odisha Govt has imposed a 7 months ban on sea fishing activity in order to protect which of the following sea animal?

FTEom e & B wet Wy v & fonw wer wwEer o aiRtEARET 97 7 W w7 athe o e
Options:

1) Crocodile

g

2) Turtle

R

3) Shark

Ll

4) No option is correct

=% P AT A
Correct Answer: Turtle
g

Candidate Answer: Turtle
g

QID : 81 - New species of edible fish is found in Pampa river. The river is located in whi,t_:__h__-__pf‘_h\,-_"oﬂowmg state?

T wEAt i 7% Tt 9o At # fefh 77 o A e w i
Options:

1) Karnataka

FATE

2) Tamil Nadu

i

3) Kerala

a1

) Goa

|

Cormrect Answer: Kerala

i

Candidate Answer: Tamil Nadu

3

QID : 82 - Who has been appointed a5 - « airman of State Bank of India in October 20177

AT 2017 § S BE ¥ F @ o Fom | B A e
Options:

1) Arundhati Ghosh

B o

2) Ashwani Kumar

AP AT

3) Rajnish Kumar

THATIT FHIT

4) Hashmukh Adhia

FoTe At

Correct Answer: Rajnish Kumar
THATT FHIT

Candidate Answer: Rajnish Kumar
THATHT FHTT

QID : 83 - Who of the following crowned Miss World 2017?

Trer  #r Fedr e =€ 2017 =7 =T g T 37
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Options:

1) Stephanie Hill

2) Andrea Meza

HAITE=T WAT

3) Manushi Chhillar

et fgeere

4) No option is correct

=1 P w7 ¥

Correct Answer: Manushi Chhillar
W fgeme

Candidate Answer: Manushi Chhillar

T Fgeerr
QID : 84 - Which of the following has been named as "World Book Capital" for 2019 by UNESCO?

et ¥ & frr orge =1 T 2y 2019 F R "aed g Hfiew’ F = § A R g2
Options:

1) New Delhi

2 Rt

2) Sharjah

9MTATE

3) New York

e

4) London

=

Correct Answer: Sharjah
AMTATE

Candidate Answer: London
wET

QID : 85 - Which of the following villages in Jammu and Kashmir became first to go cashl.assz

TR AT TR & FA AT A T T T AFE TR FAT 12
Options:
1) Lanura

ke

2) Pampore

T

3) Lanura and Pampore Both
T A T =t

4) No option is correct

w1 Fowwemy iy 7 ¢
Correct Answer: Lanura
SURs

Candidate Answer: Lanura and Pampore Bo
AT AT AT =

QID : 86 - If x and y are even numb--s, "~ which of the following is an odd number?

A x AT y A FEA F, A FrEtac g A o Ew w2
Options:

1) ¥

2) xy

3) x+ y+ xy
Hx+y+1

Cormrect Answer: x+ p+ 1
Candidate Answer: x+ y+ 1

QID : 87 - How many times the digit 7 appears in the numbers from 0 to 1087

3 7, #EAT 0 7 108 7 Fraet e arar 37

Options:
1) 20

Cormrect Answer: 21
Candidate Answer: 21
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QID : 88 -
. §i- & 5
What is the value of 5= + 7= +8=7?
at 1s tne value o 2+ 4+ 5
1. 8 .3
5—+7>+8> W HeT T &2
2 '27°8 s
Options:
1) 173/8
2)171/8
3)81/4
4)87/4

Correct Answer: 173/8
Candidate Answer: 171/8

QID : 89 - For what value of N, 43N is divisible by 97

N ¥ Forer =Ty % form 43N, 9 # Peremer 7
Options:

1)1

2)2

3)3

47

Correct Answer: 2

Candidate Answer: 2

QID : 90 -
(0.6~ 0.6x0.6)+(0.5x0.5%0.5) ,
(0.6%0.6)+(0.5%0.5)-0.3

What is the value of

(0.6 0.6x0.6) + (0.5x0.5x0.5)
(0.6%0.6)+(0.5x0.5)-0.3

T AT FIT &7

Correct Answer: 1.1
Candidate Answer: 0.1

QID : 91 - If 90 is subtracted form 70% ofa : 'moc_ “%en the resultis 120. What is the value of the number?

=fE Feft #m % 70% F A 90 =T AT AT < frwn 120 HUAT 31 AT AT F4T 87

Options: —=—1
1) 300
2) 150
3) 450
4) 270

Correct Answer: 300
Candidate Answer: 300

QID : 92 - The ratio of copperand zinc in brass is 11 : 14. How much amount (in kg) of copper will be there in 150 kg of brass?

fr=eT § FiE AT FE 71 499 11 0 14 3 150 From Fimer F =vE Fr wvaw (Fran, §) feer gefie
Options:

1)44

2) 84

3) 66

4)78

Cormrect Answer: 66

Candidate Answer: 44

QID : 93 - What is average of first § even numbers?

TTH § FH HEATH F A 4 3?
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